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G  #/k I B K 4 S 5 P FOER (RT.)
1 /4 % E RE Rl e 97 =3 23.36 (0.70)
2 8/ 2 F Il &L HR IR H 99 =1 23.40 ( 0.66)
3 8/ 4 % 1 B RZ BHEHE 98 =3 23.67 ( 0.66)
4 /75 10 A BE E EIEal ) 98 52 23.78 (0.61)
5 /1 K BR FAA &A 3T £ KBt 98 =2 23.80 ( 0.64)
5 772 t&a K HE E REXRSMSM 98 =3 23.80 ( 0.67)
7 6/ 4 #MEIl &2 [ER RS E 98 =3 23.82 ( 0.68)
8 8/ 3 M=)l £ J|X HwAZE 98 =2 23.87 ( 0.67)
8 8/5 & [&E JUF @ wmEFEE 97 =3 23.87 (0.72)
10 6/5 B W FHE H£KX BXER 99 =1 23.90 (0.77)
10 8/ 1 %5 F REHITR RE[E5E— 97 =3 23.90 ( 0.63)
12 6/2 8 B RE X# EETL 97 =3 23.97 (0.71)
12 773 K BR #HEQO shz AEERXE 97 =3 23.97 ( 0.65)
14 8/ 1T R’ W Ml HRE BXZL 97 =3 23.98 ( 0.59)
15 6/3 B W BEEZKER ils = 99 =2 24.01 (0.62)
16 5/ 3 Jdtim@E W #IK ERESES 97 =3 24.03 ( 0.64)
17 6/6 8 [ =3 B1E AR 97 =3 24.09 ( 0.57)
18 5 4 F FE hF BGR FEBHKMT 98 =3 24.26 ( 0.69)
18 6/ 1 #EIl I#k XN BE it 97 =3 24.26 (0.62)
20 6/ 7 BE X #zMAE B JLN R 98 =3 24.27 ( 0.63)
21 /2 dtBE & B wEEE 98 =2 24.28 ( 0.59)
21 5 2 #F K #;E #08h BEEXE 99 =1 24.28 ( 0.67)
21 8/ 6 & 1 EH =&MW HEHE 97 =3 24.28 ( 0.63)
24 6/8 % E HME IR i 98 =2 24.30 ( 0.68)
25 7/0 & E RE KH B 76 e 98 =3 24.31 ( 0.60)
26 8/ 0 mEJIl FK EH #Am T Kkt 98 =2 24.35 ( 0.68)
27 4/ 5 #wE)l FA MK Bt 97 =3 24.36 (0.71)
28 5/ 6 K PR #F A& AEFRXS 97 =3 24.37 ( 0.59)
29 /1 B EF HH #EA LN 97 =3 24.39 (0.61)
30 6/0 fa M HE BB =% 97 =3 24.41 ( 0.56)
31 2/ 1 1|/ E A&k HE TEmEfExR 99 =1 24.43 ( 0.66)
31 51 % & AW i iaE— 98 =2 24.43 ( 0.66)
33 32 & B #lL IR Bk B 98 =2 24.44 ( 0.63)
33 76 R ® BEAR XF BiEmEEx 97 =3 24.44 ( 0.61)
35 4/ 1 r.f: 5 BERE BEH i AH 97 =3 24.47 ( 0.65)
36 1/ 8 W K BE B 98 =2 24.49 (0.71)
37 2/ 6 $$ I} ) Ty N6 98 52 2451 (0.59)
38 3/3 K W OEH A1E XEKRITE 98 =2 24.53 ( 0.68)
38 40 B R B EzN MR ERE 97 =3 24.53 (0.72)
40 8/ 8 ¥ & MO BA il 98 =2 24.54 ( 0.63)
41 5 1% £ #HE 2 B I75H 97 =3 2455 (0.72)
42 /7 &8 B % &S HEE 98 =3 24.56 ( 0.66)
42 8/9 B A FH it AE 98 =2 24.56 (0.67)
44 48 F NIl N wBE =108 97 =3 24.59 ( 0.65)
44 5 0 % E R#E EK HEHEHEE 98 =2 24.59 ( 0.66)
46 4/ 3 %8 H BB MK b5 99 =1 24.60 ( 0.70)
47 34 B E AE AKX TEmEfER 97 =3 24.63 ( 0.63)
48 3/ 6 F Il RE #hid =K 97 =3 24.67 ( 0.62)
49 2/ 2 i R % B3 A 99 =1 24.68 ( 0.65)
3/ 0 X E% &t BB EIE 99 =1 24.68 ( 0.63)
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IR #B/k 0 B K 4 S 5 PE FOER (RT.)
51 47T K MR KEE EBT BK— 99 =2 24.70 ( 0.63)
52 42 "R R HA Py BXZL 99 =1 24.73 ( 0.65)
53 1T K & Wl @ Bt 98 =2 24.75 ( 0.62)
54 /41 K FE BES ik 97 =3 24.76 ( 0.68)
54 5/8 [l U B &E BRI 97 =3 24,76 (0.78)
b4 779 K Br /h#k IEFR m{EBR = E 97 =3 24.76 ( 0.65)
57 6/9 5 E HE+ = BEX 97 =3 24.79 ( 0.64)
58 /1 4tiEE #a ik B RIR kb 98 =2 24.83 (0.71)
58 4/ 6 W W Wl BB INEF 99 =1 24.83 (0.67)
58 5/5 & [ fe+t H3t BX=E 97 =3 24.83 ( 0.63)
61 2/ 0 ¥ & MW i gl 99 =1 24.84 ( 0.64)
61 2/1 = E KLU mE BB 99 =2 24.84 ( 0.68)
63 2/ 3 ERE Bx XE BEIREER 98 52 24.85 (0.69)
64 35k B J KRE B BREE 97 =3 24.86 (0.73)
65 1/6 ;R & fEx 8l RHEKHE 97 =3 24.87 ( 0.62)
65 2/ 4 M=)l BHEEXER BIS 98 =2 24.87 ( 0.65)
67 38 #HRI £ RBE #AR T KRt 97 =3 24.88 ( 0.62)
68 49 % B BmM % xKHE 99 =1 24.92 ( 0.60)
69 2/ 8 F E LKW B4 FEBHKMT 98 =2 24.93 ( 0.68)
70 44 5 &5 WT KiE i AHE 97 =3 24.94 ( 0.67)
n 1/3 W % ik kil ke 97 =3 24.96 (0.72)
72 39 = B T ZE— =I5 97 =3 24.98 ( 0.64)
73 2/5 5 B R B =93 98 =2 25.03 ( 0.70)
73 59 B R ERN B\ HEEF 98 =2 25.03 ( 0.64)
75 2/ 9 B [ K Bl BHEX 98 =2 25.13 (1 0.59)
76 /7 dtEE BF =B im EFE 98 =2 25.18 ( 0.65)
77 /5 x B Fik HE Fm 99 =1 25.31 (0.71)
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